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General Instructions to Candidates :
® Thereis a ‘Cool-off time’ of 20 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® Calculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

i3§08013 0395838 Ha1@MIBEFIBI3 :
*  Mddlay CLAQGTIM al0e? 20 AMIQ” ‘@03 3000 OOSe’ DMBIVAGIHOo.

® ‘9B 0o 600So’ GaldBEBUR alBlal@Wea|SOM)o DBOVMOWBUD @RYAVY(@6Mo
621Q)0M)o DalCWIUTBN ).

®  DTMOGBUB af)$I®ANGIM MM CaI1IBYEIRURB UIRLIANABAo AXIBHEMo.
®  1dc300aBU3 MM UYIRLIANBYe AUIOWBHEMo.

® BB H)GEIDHUB, 2@, NIaN)BUB, af)arilal DOMOCala|dlE8 @6N
MBIV Bl BH6Mo.

®  G2l0BYEBUd ARIROBEBIEN Meflwigeme:
®  @RAIVYMBH TLORIGBI TVANIIBIETBUB HBIS)ENEMo.

®  GIWINBUD  BalPOMINRIBD  HOTIANCRIGNDHB  BFOHWBB  B0O)
EDLINESIMNIB DaldOeMANo alld19a00SE @3 QalCWIUABN)AUIIB aldsle).
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1. Answer any 10 questions from ‘a’ to ‘I’ carries 1 score each. (10 x1=10)

(a) Which of the following bank is known as ‘World Bank’ ?
(1) International Monetary Fund
(1)) Asian Development Bank
(iii)) International Bank for Reconstruction and Development
(iv) Reserve Bank of India

(b) Data collected from a newspaper is an example of
(1) Primary data (i) Secondary data
(111)) Un-published data (iv) Raw data

(c) “Jail cost of living” as a measure of poverty line was used by
(i) Dadabhai Naoroji (1) VKRV Rao
(ii1)) Findley Shiras (iv) Amartya Sen

(d) Choose an example for commercial energy source
(1) Fuel wood (i) Agricultural waste
(ii1)) Dried dung (iv) Electricity

(e) Tally marks of a distribution represents
(1) Class limit (i) Class interval

(iii) Class mid value (iv) Class frequency

(f) The range of a series represents
(i) Highest number in the series
(i) Lowest number in the series
(iii)) Middle number in the series

(iv) Difference between highest number and lowest number in the series

(g) Which of the following is an environmental issue ?
(i) Unemployment (i) Inflation

(iii)) Land degradation (iv) Economic depression
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1L ‘2 2@@d ‘I ae0was ¢asiondlol «gomslee 10 agapomilmn’ 2omaes
Af) Q@) . BOCROABIMIo 1 MEB03 afloo. (10 x1=10)
(@) anqes ®@aMg)ss MIBBSIG3 GEIOM: IV af)INAlIWAAIS)IMG aB@I6 ?
(1)  MWBBMIuEM@3 cABMIQO] ansme”
(i)  oReuya8 HAWAILIQ[OANT MIH;
(iil) EDAYB MOaUEM@B 610D GaNIB ANDHENBAV(SAH B @IRAF OAAILIa[OANT
(iv) olavdalnios, 630a0 eNAm

(0) Amai@emEl@3 WA cUIGIENIM BOMBU?B 21)016S HAVIS)BBAUDIGS aG@IM”
HBIAOOEM A ?

(1) (o0lé o3 (i) BNcliw BomeRUd
(iil) (MR ®ElE900m BOMEBB  (1Iv)  @ERAVIVG:L@ BOMNEBUZ

(€) BIAIBICER BHMEHIGMNMTIM) “RVIG ol® 62121017 9alcIUTla|®

@RYOIEM ?
(i) rorRIMIO® Malcnoed @) afl.es.cerd.all 0day
(iil) adladerl axlooay’ @1v) erado®yeauad

(d)  aemiey 9Mde cLIGPIMSS HBIAOEMo HBOOEETNS)BIN) af)$)@)d>.
(i) alos’ (i) @OBaxlB al0¥ UNV®)BNUD
(ili) ©6MAS 2106Mho @1v) eaasy©i

() &0y allooem cwamlopes ‘soel 2868  (ICIAWlSGEleMMM@

af)TNOM@oEM ?
1) o adlud (i) @ogyewscaig
(iil) goquawmelyo (Iv)  Boq @RyIy©S

0 80)cryMEPESs HOWERNT (IGITNWIM. 6219 NG af)ITOMXIE).
(1) cwymiaieel aggane alefl® mamid
(i) cwysMiaieel aggano faldle mauad
(ii)) ewyamMiaiael awy mmid
(iv) cyemiaieel aggane alell@ MMIOk a@Qalle Haldl® MM} ®onlenss
Q@O0 Vo.

(&) a2nes ®amgEesaIRld alddlMAGI @ (100D aB@®osm ?
() emovlelgpwia (i) aleMeal)ajo
(i) 2o @RalalWo (iv) aLoMUETIA: MM Yo
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(h) Which of the following diagram helps to locate ‘median’ ?
(1) Histogram @ii)) Ogives
(iii) Frequency Polygon (iv) Frequency curve

(i) Persons who own and operate an enterprise to earn their livelihood are known as
(1) Self employed (i) Casual wage labourers

(ii1) Regular salaried employees (iv) Government servants

() Which index number indicate the changes in general price level ?
(1) Index for Industrial Production (i) Consumer Price Index
(iii) Wholesale Price Index (iv) Sensex

(k) Which of the following is ‘NOT’ a Health indicator of a country ?
(1) Infant mortality rate
(i1)) Incidence of communicable and non communicable diseases
(ii1) Life expectancy
(iv) Employment level

(1) Population is statistics means

(i) Totality of items under study (i) A sample unit under study
(iii) First 10 units under study (iv) Last 100 units under study
Answer any 6 questions from 2 to 13 carries 2 scores each. 6x2=12)

2. List any two objectives of World Trade Organisation.

3. What is meant by environment ?

4.  Classify the following items into spatial classification and chronological classification.
(1) Population of India
(1) Rate of unemployment in 2018
(ii1) Crude oil price in 2020
(iv) GDP of China

FY-235 4



(h) ©@y ®ISIEBAIVIEE W@ WOWETIOR TVa0oWEmeIceM ‘dlulwad’
W13aNa60m B¥1aMN® ?
(i)  adlavegowo (i) edaysd
(i11) (af@BaV caloglwe (1v) (a3 Qo

()  2auedanorimon] 80) MeEEIINNG HSAWIDIGENBW)e @G MSGITOBINE
Caldd) o )21QNAN OlYBGH 303
(1) Vo H®IIEI BHEOENRBMIMAUAB
(i) el o®o¥le1os]B:ud
(iii) auole AIG)POMMSR OO LIS D03
(iv) walndenead ceoelonod

() ©an®) afeiflenneoilenmeodam aged® Mallafleamm aL)ale:eo

aB@®oem” ?
(i) QPAUMOVH; DIaIIM MV)alld (i)  DalcedGB®mY allel TV)alle:
(iii) om0 aflel v)ale, (iv) eacvadeavamy

k) anoes @MigEs0QIcd  80) EIREDVINWD  CRYEOINY  dV)aldBHEG3
DUBOAISOTID® aBEOEN ?
(i) udlvoy aEeMaflEes
(i)  alBOAMD]o ERLJOTH@®AIW COINBR)OS TVIAVIWYo
(i) ERWA aeBdLll0
(iv) emo¥lmidailel

1) avoauyoEi@d ‘auaau@o’ (population) af)IN® OH6NE" GRA@OAIENANT
af)a»o6m’
(1)  «1I0METNMES af)L)o NMEBS)o
(i) aIOMEBIMSS 630) CLIMNGB
(ii)) a10MEBIMEE @RYEY 10 ENIQ)B:3
(iv) alomoBlmes @oaiacvom 100 @ emig)a-ud

2 2)®@8 13 216088 ¢21083EBSEI03 a@E@BIENS 6 af)FROTIM DCNOOAD)®)H>.

2 avea03 ailo. 6x2=12)
2. GEI0B Q1P aVoceism (WTO) s aBomeslele 06e eld:uieonud eﬂgg
©21Q)).

3. a1dludlel af)an@ @RAGOAISHNING af)NIEN ?

4. @y @aiges mmeneg quoel® adyleoame @®enmMaV®  Adylle:0emo
a)leoBOM @G BB B>
(i) miael 2maveany
(i) 2018 ee1 omoylefllejoon aloss
(iii) 2020 e 1 @RAVEAVE|® aggpaier
(iv) eea1mes ef.ail.afl.
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10.

11.

12.

13.

Identify two discrete variables from the following :
(i) Height of a student

(i) Number of students in a classroom

(iii) Number of fishes in a tank

(iv) Distance between two places.

Draw scatter diagrams showing perfect positive correlation and negative correlation.

Write any two properties of correlation co-efficient.

Construct index number by Simple Aggregate Method as the base year of 2005 from
the data given below.

Item Prices in 2005 | Prices in 2015
Wheat (kg) 20 30
Rice (kg) 30 40
Pulses (kg) 20 25
Clothing (mt) 60 80
Milk (ltr) 25 35

Write any two similarities in the development strategies of India, Pakistan and China.
List any two factors that causes land degradation.

Categorize the following items into quantitative data and qualitative data.

(1) Intelligence of a student.

(i) Marks of students in economics.

(iii) Income of labourers.

(iv) Health of labourers.

List any two characteristics of ‘the poor’.

List any two means for reducing environmental degradation.
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5. ®oey ®@MIgS80I0@3 O6ME GRAVID® 2106303 GGl ag)®1®)d:.
(i) s0)alsRddwESs 6aldese
(i) a0} o Odloe! B)S1e)0S af)gno
(iii) 80} SoBlOLI AGAVIBBBIOS af)eiRo

(iv) @M’ auneieBdd @ealenss @R @:Llo

6. a@landgn catoMidlall  MVaOMINWEED®  HEDMOFIAT  AVAOMINLOTHD)o
BH06MIH6)AMN TVIQA AWDWEBBUB AUUODEN)B>.

7. LAOMIML W)EIMIBOTNOG aBO@EIEN0 BNE TVANEUHUDDHUB af)9I®)d:.
8. o6y maMlg)ss 3amegElad mlame 2005 @GRSIMNIMAUBAURIW alBlneMla] dHalel

aver il afleicv)alld: »emMenieemd dloll (Simple Aggregate Method) 9aleoufla]
EDABA BTV MMUB BN BHOBN)B>.

Mo ailer 2005 ailer 2015
cnoma’ 20 30
@RI 30 40
WIMEBUD 20 25
QIayo 60 80
ald@3 25 35

9. MMy, 66aM, aldHATVN0MB @)SEIY EIREBENS AllAHIVM MBSO
aBO@EILN0 ONE TVONYDEHUD af)$) ).

10. 2glond @RalalQOHIM  HOOEMAIGNID aRO@BILle BME »H00MenWd  elqy’
021Q .

1. ™o ®IMIE88 HMBBOS alGIRMIGAS BONBBUZ, UFMNIMAB BOTNEBUB
af)MleoBe M @00 TG00,

(i) so)alspdades mieul

(i) oM VVOAREIES All3PBM BSOS BOBLS
(i) emo¥EIg]Hd8)eS QIE)AIMo

(iv) o®a¥eIo8lB:8)0S @1R)COIN Yo

12. 60BEKS apomBsele 0aNe MVLANCUU®HUB 2NQY 61aIQ)d:.

13.  a1dludloll @Ralal@o &:}02))0@0ME AIO)INGIMBS aRO@SILN OME A0QPNEBUB
eflqu ealg)d.
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14.

15.

16.

17.

18.

19.

20.

21.

Answer any S questions from 14 to 23 carries 3 scores each. (5x3=195)

Explain the background that led to the implementation of New Economic Policy in
India in 1991.

“Organic farming gets more importance in the present day world”. Give any three
reasons.

One of the functions of environment is that it provides aesthetic services. What are its
other functions ?

Convert the following frequency distribution into exclusive class intervals.

Class f
0-7 15
8-14 15
15-21 14
21-28 11
29-35 5

Explain Pilot survey and list any two merits of pilot survey.
Write similar economic term for the following concepts

(i) One who buy goods and services to satisfy their wants.
(iil) One who produce goods and services.

(iii) One who works for some other persons and paid for it.

Explain commercial and non-commercial energy sources with suitable examples.

Complete the following table.

Steps towards making a Project




14.

15.

16.

17.

18.

19.

20.

21.
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14 2)®@3 23 A100W)BS Ga108BHEIG3 aBO@BIEN S ag)GROTIM QOMOOAL®)D>.

3 avea0a aflo.. (5 x3=15)

1991-@8 gamy anEMB  AVOMUTTID: Mo MSafleneo)Maiicelss Mg
alu@ 0@ Elo ANlUoEl 38106 .

“QIBGTRIM B0L! CGRIIBROINMTE RN dhiaH] B;HSIN@3 (IIWIMe EMS)AM).” @AM’
3HIVEMETBUB )9 I,

qUDMBEPDDH  BRMEBYGIM@HOMW  HFIWIM®  aldlaudlolloes  wdnens]od
SaMoeM. aldluOlGW)es aQ) WAINEBUB aBO@E|do ?

®oey @MIgEs  @RAERIAl®EMOTD  B8¢1aead3  Gogy  NScUSVIeRINs
(08 2@ 56 ).

Class f
0-7 15
8- 14 15
15-21 14
21-28 11
29 - 35 5

aldlauem avdeq] aluodld@lee)d:. aBo @Es1el) OMe AU LNAY 61a Q).

I8 ATV @) UOWETBUBAS AMLAIMAIW AVIMUDIB> alBo af)$IE)d.

(i) @©RAVDEIBUB YAITIOAISIBTMMMNGIMIVS] FVLOWMETBUB QI3 IMNWIUD
(i) VIWMEBEsI GILAIMEMEE WA ENIMXIUB

(iii) (ITlanRlo 66O Da|d] 26Q00UBS calmME]l 2202103 aBBeIS)ANWOUD

Q106MIR-QIeMIRIGO OVABR DOONSEBU BRMCWITINIY DBIAODEN TVadl®o
flvoBAOHN .

@26 GANIFHSS ISl o l)AOTIWIBEN)

830) G IR ®Q0dSNaN aflaflw eeigemud

N o kW=




22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

Draw a simple bar diagram using the following data :
Year 2014 | 2015 | 2016 | 2017 | 2018
Production of iron | 90 | 140 | 160 | 200 | 250

List any 3 most crucial economic challenges faced by India during the colonial period.

Answer any 3 questions from 24 to 31 carries 4 scores each. Bx4=12)
Write a short note on the causes of poverty in India.

Analyse the impact of economic reform process initiated in 1991 in the realm of
agriculture sector and industrial sector.

Calculate Quartile Deviation and Co-efficient of Quartile Deviation for the following
data.

Wages Number of Workers

20 5

25 7

30 6

35 10

40 5

45

50 4

Briefly explain the importance of statistics in economics.

Match the items in Column ‘A’ suitably with items in Column ‘B’.

Column ‘A’ Column ‘B’
(i) Histogram Time series graphs
(i) Ogives A circle divided into component parts
(iii) Pie diagram Mode can be located
(iv) Arithmetic Line graphs Cumulative frequency curves

Explain the qualities of a good questionnaire.

“Two major policy reforms were complimented in independent India for promoting
equity in the agricultural sector during 1950’s. Explain them.

Explain the role of health infrastructure in Kerala to tackle Covid-19 Pandemic.
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22. @36 ®aNI5IBS BOMEBUD DalcIUla] Mloallud MINB WU AIOWEE)B:.
QI@ato 20141 2015|2016 | 2017 | 2018
o)milond 2eialosme | 90 | 140 | 160 | 200 | 250

23, 950¢80emM@@3 30eieIgeIos M} GRENEIGGa] agigane MBERWSA0® M)A’
LMD HAULNANE U3 £AVG Gal1Qd:.

24 0)®@3 31 WHOWBB aBO@BIEIo 3 GalOBLEBUGH DAMOOAY)®)B>. 4 MVGH0A
afl@o. G x4=12)
24, oo yile el 3061BIOTIOG H00IMEIBOS B5)Glaf B0} Oal0) d)Cla] ®QO0IBN)D:.

25. 1991 @yooEla] qLONUTDTING: alBlaUBHOEMN (I  &H0BaHld:  caIeIdIel)e
QUL B GAIEINIRI DMNBIGSIW BRMINOANLIGBUB ANlVdBHRIMO 61a1Q)d:.

26. al)0IOS OHIS)EVIFEB BOMEBSIGITIM) 2 1EAGING  QAYGIWIMo, 2IENACNGD
QUG QONMBOTIOAG UM )T DM BN M.

GAU®Mo O®IYIENS]HB16S af)o
20 5
25 7
30 6
35 10
40 5
45 4
50 4

27, vomMIETDI> VOOAV(@@BI @3 TVIUYBEDTNOG (a10WOMYo 2 1)@)855 ANAIGIE) .

28. ‘A’ cH08000RI MHMEBOE @RMCWIRINIW] ‘B’ csHigomnilon sHmemna)aow

colafloe)d.
A B
(i)  adlavegowo SHORIGUYEM (NN BHUD
(i) eeflanaud B0) AUNOOO aflaflw W8N
aflegdlaman)
(iii)) 6l W0 620w MI1AgNIH60m B¢l
(iv) @pdomaogls; eee1nd oan  TVERNGOAIGITH Ql(d:o

29. 80 Mg catosalellos ameoldlcanme 1My Aluodld:dles)d.

30.  “1950agl@d LI ENam @3 30Ba31 ) caaleldloel @RI
¢(@1®TVIaTa legMTIMIV] @MNE" (IWIM  alBleHUBNIOEBUB MSafleldssl.” @l
aflvoidla@l 9.

31, @a00llaw-19 200000@l6® eMAEISIMGIGE  CHOBATIOL! BRYCRINY  alUDIOTTHEI
TUDHHOLEIBROS alds ANU0S]RC B8,
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Answer any 3 questions from 32 to 37 carries S scores each. (B x5=19)

32. Explain the liberalization policy measures taken by the government in 1991 in the areas
of industrial sector and financial sector.

33. Analyse the challenges faced by the power sector in India.

34. (a) Explain sampling errors.

(b) List 3 different types of non-sampling errors.

35. Draw a pie diagram the from the following data.

Item Expenditure
Food 400
Clothing 60
Shelter 300
Education 600
Health 250
Miscellaneous 200

36. Explain the factors that contribute to human capital.

37. A survey was conducted to Study the average consumption of milk by people in an
area. 50 families were surveyed. Per month consumption of milk by them is given
below.

28 4 24 22 14 40 25
12 23 20 32 16 12 11
14 43 10 42 18 22 37

10 29 30 6 8 32 17
10 39 40 4 23 42 37
9 31 12 40 37 6
5 34 41 30 10 4

11 10 30

Construct a frequency distribution with exclusive classes taking class interval as 10.
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32 2)®@3 37 APOW)BB aROMESIEIe 3 GalIBIEBRIBGH DONVOALI@)B>. 5 VGO
aflo. B x5=15)

32. aipainoels  caaellel wmanocaaeiden  1991-@d  walendeaad
MSa{le0ssl@ BIEAU®EHOEM MSalSIdud AflvdElaxdlan)d:.

33. ooyleer 9ovdex caael  @RAGI®ClaaREdleMmam  aalg)olsEleud
ANl »HLIMo 6)21Q .

34, (a) avomflowy allyan®ud afluodld:cloe)H
(b)  man avom e’ aflyana:ud elqy ea1g)d.

35. @y ®@aMig)es 3emenslad MM H6al WMo QOB .

Mo ®alelal’
@RYaNO®o 400
QIV(@0 60
aloBaflso 300
aflayoeyaave 600
@RYCOIN o 250
2Q)88Q 200

36.  aM)au§ MEIWMBTIM TVoERIAIM §a1QIAN CLISHEIBOS B)(a] AflAIG]E9)B:.

37 80) (ICBUHOD) BRYBIMHBOS V0UE! alrlHd DalEEIVO MHHOINBEMANGIMIV] B30}
awdeq] MSEWI. 50 B)SpMIBBSIM aloM AlcwOAISHV®. G@RAIVKS 60)
20AVA DD alOLONF DalCEIN- ®IOY @avlgene’

28 4 24 22 14 40 25
12 23 20 32 16 12 11
14 43 10 42 18 22 37

10 29 30 6 8 32 17
10 39 40 4 23 42 37
31 12 40 37 6

5 34 41 30 10 4

11 10 30

00 Dale@oUfla) GOV scaig 10 @r©l a¥lalnsa®d dalolcd (Exclusive Method)
@RYAUNOTI Ao @QI0IHN .
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Answer any 2 questions from 38 to 41 carries 8 scores each. (2x8=16)

38. Analyse different poverty alleviation programmes implemented by the Government of
India. (Hint : 3 Dimensional Approach)

39. (a) Whatis meant by Sustainable Development ?
(b) What are the major strategies for sustainable development ?

40. Consider the data given below :
(a) Draw less than ogive and more than ogive.
(b) Locate Median Graphically.

Age Group Number of Persons
0-10 60
10-20 80
20-30 12
30-40 28
40-50 20

41. Calculate Arithmetic Mean and Median from the following data :

Wages Number of Workers
10-20 15
20 -30 10
30 -40 5
40 - 50 2
50 -60 8
60 - 70 10
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38.

39.

40.

41.

38 m)®ed 41 A1O0 €238 BO®BIEN 2 Af)INOVIM DOMOOHAH;D)M:.
8 ave®948 ailow.. 2x8=16)

oy waledeand Msaflenssle  aflallw  BodlETdRBPRM  alRLGEIBUB
aflvo®HeIMo 6)a10Q))d.

(31 : (@ M)61 AVl IMEs3UD)

(@)  auaudle ANd:rVMo af)AN@E BN @RABGLOAIBNANEDANIE ?

(b) e AleMVMETIMES (IWOM OENEBBUB ABO@EJIo ?

21)QI6S ®ATIFBB BOEBUB al@lWeTila :
(@) eeiVB0M aedal, caod 3008 B&lAT af)IVIAI AUEWEN)H:.
(b)  awpBo Noadl@d MBENWIHe)H.

(aI0o QBTN HBIOS af)ao
0-10 60
10-20 80
20-30 12
30-40 28
40 — 50 20

@06y @SB BOMEIBE] @3 WMo AIWYo, AW o)A BEMNENIN .

GAIOMo @Y1 E10S8] D80S af)eNo
10 -20 15

20 -30 10

30-40 5

40 - 50

50 - 60 8

60 — 70 10
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